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sin 0° X cos 60° 4 cos 0° X tan 45° — sin 45° X tan 60° =7
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@ 0<cosx<1

@ -1<tanx<0

@ 0<sinx<1

® -l1<sinx<1

@ 0<tanx<1



O] #E H 1 ginx = 0.6691 & o], x 9] g7

@® 39°

2t | ARRl(sin) | 2 AFRl(cos) | EtMIE (tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
41° 0.6561 0.7547 0.8693
42 0.6691 0,7431 0.9004
@ 40° ® 41° @ 42° ® 45°
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4. 3 AABC °f tigh Azt 9] 3t 5 C
sin A 9] gryt 72 AL29

® cosA @ tanA

® sinC @ cosC
® tanC



sinA = g Q1 227+ ABC 9|4 cos A B

- 1
,tan A o] gha 247 oY (00 <A <
90°)

@ COSAZ?, tanA =1 @) cosAzg, tan A = 2
® cosA =243, tanA =1 @ cosA =33, tanA:%
® cosAzg, tanA =1
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6. sin(90°-A) = 3 A off, tanA ©] 27 (T, 0° <A <90°)
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tan6 9] Fr-27
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the 13 2ol WAB Y Zol7h 12 AR

of tfste] /DAB = x, /ZADB =y, /DEC = z
y

e & o, o F &A1 42 A7

@ siny =sinz @ tany = tanz

® tanx = CE @ cosz=sinx

® cosz=1
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10. x=30°=t22 & o, sinx, cosx, tanx?] HAE v WSH A

29

@ sinx < cosx < tan x @ cosx <tanx <sinx

@ sinx < tan x < cos x @ sinx < cosx = tanx

® tanx = sinx < cos x



11. sin(2x-10°) = A, x O] 27 (H, 0° <x<45%)
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D 15° @ 20° @ 25° @ 30° ® 35°



12. o -4l AABC 9] Yols F5HH?

1.

A
42°
.
BT -
“~-10cm --"~ ¢
(Aol &)

T sin z cos T tan =
42° 0.66 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.79 0.97

© 33 cm? @ 37cm? @ 45cm?

@ 72cm? ® 90 cm?
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o2 191 9] AABC 9lA] sinx 9] 327




14. o3 Id3 Zo] aABC
4] BCLAD, ACLDE, /ABD =
(DAE = 60°, AB = 10cm ¥
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